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H1:LSC-REFLAIR_A_RF45 | ERR_DQ(RMS)
H1:LSC-REFLAIR A RF45 Q ERR DQ(RMS)
H1:LSC-REFLAIR_A RF9 | ERR_DQ(RMS)
H1:LSC-REFLAIR_B_RF135_| ERR_DQ(RMS)
H1:LSC-REFLAIR_B_RF135 Q ERR_DQ(RMS)
H1:LSC-REFLAIR_B_RF27_I_ERR_DQ(RMS)
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H1:LSC-REFLAIR_A_RF45_|_ERR_DQ
H1:LSC-REFLAIR_A_RF45 Q ERR DQ
H1:LSC-REFLAIR_A_RF9 | ERR_DQ
H1:LSC-REFLAIR_B_RF135_|_ERR_DQ
H1:LSC-REFLAIR_B_RF135_Q_ERR_DQ
H1:LSC-REFLAIR_B_RF27_| ERR_DQ
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s - H1:LSC-REFLAIR_A_RF45 Q ERR_DQ(RMS)
e : H1:LSC-REFLAIR_A_RF9_| ERR_DQ(RMS)

H1:LSC-REFLAIR_B_RF135_| ERR_DQ(RMS)
H1:LSC-REFLAIR_B_RF135_Q_ERR_DQ(RMS)
H1:LSC-REFLAIR_B_RF27_I_ERR_DQ(RMS)
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